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1. ~ Suppose you traveled 85 miles in 1% hours. Moving at the same speed, how many miles would you

oAl
coverin 3 " hours?
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| 2, A house is 15 feet tall and its shadow is 40 feet long. At the same time, the shadow of a nearby
building is 300 feet long. Find the height of the building.
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3. If 3 apples cost $1.19, find the cost of 15 apples at the same rate.
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4. Harry scores an average of 7 foul shots out of every 10 attempts. At the same rate, how many shots

would be scored in 200 attempts?
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5. A recipe calls for 1%cups of sugar for a 3 pound cake. How many cups of sugar should be used fora 5
pound cake?
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6. ADOG ~ ACAT. Find the length of DO.
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7. A model train is built to a scale of 1:64 feet. Find the actual length for a piece on the model that is 0.75

inches.
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8. A tree casts a shadow 41 m long. At the same time, the shadow cast by a 58 m tall statue is 95 m long.

Find the height of the tree to the 4" decimal place.
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9. At a certain college, the ratio of men to woman is 5 to 4. If there are 2800 men, how many woman are
there?
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Find the length of x.
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